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1, (10%) Find all valees o s For which Hee scrics E Qo cotverges, Dislinguish batween absolule and
n

conditicnally convergencs,

2= okl

2. (10%) Bxplain why L'Hbpital"s rule docs not apply (o Jin ==, evalunic the Tinmit,

3. {10%) Find the volume generited by U ogion below thecuree ¥ = sir, 056 5 fd, 68 eodated abowl Lhe v
axis, of concitde thal il docs al exist,

4. (10%%) Sketeh the graph of y= x* - 42 +15, inctuding all fuming poiniz and poinls of infllecticn.

5. {10%:) What is the maximum wlee ol ()= 1 - x* in the domain [0, 177 What is (e minimum value? Docs
M(x1=10 zt the points where iese coreme valoes peour? -
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{; L10%%5) Prove thal if 4 15 synimedne and anvertible, then A7 iz alzo sytunetric,

';-"' J[10%%} The function g &, — 5 iz dedined =5 follows:
lagt® +ar+ay)) =8 a2 -5+ + 25
a] Prove that g is linear,
TFind the kernel and renge of g and give hases for these subspeees,

P (10%) Let i — ¥ be a lincer dransformation, Let T be defined relative to bases
foep} and [ry,v,,7) of U and F as follows: Flmd=p +5v -2,
Ty ) =3w, — v, +2p.,
a)Find the matrix of T with respect to these bases.
b¥lise this mateix to find the image of veclor = = 20, — 3p,.

T -2 1
‘?.I:ll}"}"n} Magonalize the symmetrie mateix f—2 10 -2 |, Give the similacity
I -2 17

trans fommaalio.

Jane) Determine althe point-nocoal oo and bjthe peneral form of the equation of
1he pline through (he poine (1, -3, 2)and having nomwal {1, -1, 1
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